Exploring supersymmetry through gauginos with FCC-hh
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Pure gravity mediation with anomaly-mediated supersymmetry breaking

> Split spectrum with heavy sfermions + light gauginos
mg=6TeV,argL=0

- Compatible with the Higgs mass My ~ 125 GeV 1o
> Natural realization of the Wino LSP =
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FCC-hh coverage

Gaugino mass reconstruction up to ~ 100 GeV uncertainties

ATLAS Simulation
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> Bino decay into Wino + a fat W-jet 3 E :
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Wino lifetime & squark spectrum

> Surviving probability of Wino from the 4th — 5th layer . » Gluino branching ratio contains information of squark masses
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